RROGESSIONAIRE

e S

"~

4 (] _ s
7500 RPM
2-stroke, Airicooil'aﬁ;_ 3

Mod: : - ey S ok ' )

- -
- * b» s B\ ,«.-/- » AN, ;\p:j

A\ SPECIFICATION

_— —t - o T "
sUandovaud &, -
Engine 2-stroke, Air-cooled g, - e
UsannmsiBonu ) - . s e )
Working Form Shoulder type < S
JLNaADIDNSUONAU 7% g
Cylinder Displacement 40.2cc ‘ b
ADUISOIAUINSODEDEQ (o~ D ; i X Bt =
Maximum Output Power 7500RPM — N ~ ";ﬂ&
mMavinSoo : e b6
Power 1.47KW i N 2
AUDOOLNUUISOIWED " >
Tank Capacity 0.8L
uhhun
Net Weight 8.5kg




e CnuuoNINaSMOINO:gUItE
Aulurnmnindndaaos

e Gear box outside is
aluminum, internal is

i ) B m
mSondannjy
BRUSH| CUITFTER}

$U3L1%

e (Pdaduduo:-guIday

e [JenoWweonouns:5uU

e CRIaMUBUNINONIWUNG
e Zadhuduldidunun

o T38a0osuiNnUMuwan

* Handlebar clamp is aluminum
* With rubber

* More wider than usual

* Tense the handles strikly

* Hold the handles

Run Great

e A3QBAUISOAOUAUADISD
mmsnnoununmuso‘ioma
anunsnUSUWOnoUAUANLISD

e Speed-control switch control the speed

easy control the speed easy adjust the
place to control the running speed.

alloy steel.

e TuDadiarndhUoce kun 1.6 Dadiuas

&0 12 To
e Steel blade 2T, thickness 1.6mm, 12"

® AYISINOSBUQ Float iOunteuluaaia
Ila‘\)'IEJCIOﬂ']SIUEEJUﬁOU

e The Float type carburetor it is popular
and easy for reapair work.

-QUI’]S['UU']OSQ']U (Standard Accessories)

anaa:wne (Harness)
IwWuJoonu (Guard)
Tudadancdhdoao

nu 1.6 Dadluas eno 12 Ud
(Stee! blade 2T, thickness 1.6mm, 12")

F:I.UO (Manual)
ns:adldounsnd
oUnsmuuuocl (Tools)
yoawauLhuu (Mixing bottle)

i

&Eﬁ:ﬁﬂ@;
&
[ mmnaawuauua |hannumu 1|31c1u1u

N NoIU rdviisondindoveud 40-5

e The Float type carburator it is popular
and easy for reapair work with longer
life more power than 40-5 engine.

AL rTmILD (Seggeuton)

mutﬂradﬂunuﬂuuu‘lﬁaﬂluuﬁﬁﬂnﬂﬂﬂ udn Fazvinringaing fauwny u‘mmmwm’mmﬁmdﬂaumﬂ
st menenhzainn wedenunila ) MalfesneliludianEnu winfitywlumaldmildeassesum
Fmine Mmﬂuaum"m‘[m‘mu‘u

Always stop the engine ancl make sure that the cutfing attachment is stopped before doing any maintenance or
repair work or cleaning the power tool. Do not attempt any maintenance or repair work not described in your
instruction manual. Have such work performed by your SUMO senvicing dealer only.

. FI".II.ﬁ‘.l‘ﬂd‘fEﬂtL‘LI'LIN"II.ﬁ\'l‘Lﬁ'THTHI"I'lIFIﬂkFH“ELI'I

. 'ﬂT‘L’E\‘I‘THLﬁIﬂdﬂﬁum“luﬂﬂd‘l.“u'l.n'iﬂ-lalNﬁuM‘JBﬂ"I'}’E}Hﬂ"L'}N‘LnﬂI.ﬁE_I\I'I.IEEIn’.I‘T 15 LUAT 1.1.&1]%\"\‘1‘1\1‘111

. I.3~IEll."ﬂ'\uLﬁ'.I”FHF|ﬁ“ﬂ_ﬁ“ﬁ"lHLHINluHTlQ!‘JlﬁHQﬂH ﬁQ‘.I‘BJ‘.?...Ha“ﬁd?a“'ﬂ\lﬂﬂ"ﬂQJ”luﬂﬂwuﬂﬂﬁﬂd‘lﬁ’.ldﬂ".l'kl\lﬂ\'l
veanuldl wazlaienndt 15 war

* The machine is only designed for frimming grass.

= The machine operator must ensure that no people or animals come closer than 15 meters whille working.

= When several operators are working in the same area the safety distance should be at least twice the tree height
and no less than 15 meters.




Run Great

ABAULTI LULNIUIRNINAE
"‘ tlasfiusaAusain uazande
L3 [ oA
IRWIZUUSUAY LILYINIY

[ 4 [ 4
FI"ﬁi.l:iluﬁﬂs ATLILTLADT
AU SUMO




Sr.No Description

1k

CONOOAWN

1.

1z

3.

10.

12.
13:
14.
15.
16.

18.
19:
20.
21.
22.
23.
24.
25,
26.
24
28.
209
30.
31.
32.
33"
34.
3b?
36.
3
38.
39"
40.
41.
42.
43.
44.
45.
46.
47.
48.
49.
50.
bl.
b2.

N/A Connector

ww@@

FESSIONAL

L='

| 4 r
N L3
Thai Name

Air Filter Front Part
Spong(Square Type)
Spong(Circle Type)
Air Filter Behind Part
Carburetor
Carburetor Gasket
Intake

Intake Gasket

Intake Valve

Intake Valve Gasket
Crankshaft

Key 3x13

Bearing D10xD14x13
Piston Pin @10x33
Pin Ring @10

Piston

Piston Ring &40
Cylinder Gasket
Cylinder

Spark Plug

Cylinder Cover
Silencer Gasket
Silencer

Silencer Cover
Starter

Flywheel Cover
Flywheel

Ignition Coil

Oil Seal @15x@D25x7
Right Crankshaft Box
Stopper Pin @D5x10
Bearing 6202d

Left Crankshaft Box
Clutch

Fuel Tank

Tank Holder Damping
Tank Holder

Pipe Hoop

Fuel Pipe

Screw M5x20

Screw M5x12

Screw M5x55
Screw M6x20

Screw M6x16

Screw M5x35
Screw M5x25

Screw M5x40
Screw M5x14

Screw M5x20

Screw M5x12

Screw M6x60
Screw M5x14

Screw Plate @6xD16x1

i ) o -
nSoDAABN)H
BRUSH| CUTFTER)

ol 4

) th’é

Iy Price Remak
1
1
1
1
1 520.-/Pc
1
1
1
1
1
1
1
1
1
1
1 150.-/Pc
1 35.-/Pc
1
1
1 200.-/Pc
1
1
1
1
1 200.-/Pc
1
1
1 200.-/Pc
2
1
1
2
1
1 220.-/Pc
1 220.-/Pc
1
1
1
1
1
-
2
2
10
4
4
T/



SUMO - nSovGann) gy iz

\INDUSTRIAL /Sy LA & —i}

‘Diaphragm carburetor
Less oil comsumptlon,

SPECIFICATION

bUAINSoVEUC .

Engine 2-stroke, Air-cooled
Us:annnisiizonu -
Working Form Shoulder type <
JunanduonNs:uonNgu

Cylinder Dispfacement 41.5cc
ﬂD’]UlSDlOUIﬂSO\)ﬁOﬁO

Maximum Output Power 7500RPM

ma\)lﬂsoo

Power 1.47KW :
ADUDALUNUUIBOIWED Fia— "l" !
Tank Capacity 094L © "-m\ —
thihudn —

Net Weight 8.5Kg '




S e o
41.55C,

2 strokeWAir-cooled
) HE Diaphragm carburetor

[ @
= wanlannovm

¢ | g L ti

d= |k wanlannobM ies: oifonsumption

iInsovdannahada-wra slu su Bc243
BRUSH CUTTER SUMO INDUSTRIAL MODEL BC243

§

¢ IWudoonusarodastanoulumsa

o IWudovriusaroda awnsnlisiano
nuludadanndy 1a:sarodasaals
lduibuda

e Combi-guard.

e The cutting attachment
combi-guard can be

used with either a grass
blade or a trimmer head.

e MSUISICOS lla: Shaft assy
mono:alidian

e Carburetor and Shaft assy made
from aluminum.

e dhuuoNifesSHINO:ADITEU ‘QUHSMUWOSQWU (Standard Accessories)

dulurnonindndaaos e

e Gear box outside is Q
aluminum, interal is
alloy steel.

® FLEEWIE (Harness)

e wWuJoonu Guard)

o rodastalbiduidu
(Trimmer head)

e Tuladarinn 2.0 Daduas

< 14 Ud Tudansoluuaneo

(Metal blade 2T, thickness 2.0mm 14")
e Tudadannnnkun o £ Manua)
2.0 Dadas 14 to ® IBUWA (glasses)
Tudansou:ane o Metal bowl
e Metal blade 2T, thickness @ Dust cover
2.0mm 14" e Lumbar pad

e ounspidulion (rools)
e YDAWAULNIJU (Mixing bottle)

A AIILELN (Suggestion) A MIciou (Warning)

w ] ' o o ° I | o = - '
e aseiuaziuladlusiangaviguuda Sassvihnpainedine deawta wiavhanugzean . mm‘%‘mﬂﬂguumﬁmﬂ SN TAALAIVEN 5
LATIARMG] atwenganainen viiateaumaila 1 Tlalaganelilugiianislinu wndiilogm = palinurTasiavnasiaiudlanlifiaviadniag FonlndlAsnionnd 16 whs Tutus
bl ARl B pii il i L A 3 |
Tumisldanulilsafenanaunus i viaguiiTnirglawinu iy
o u .U 5 ” k9 - 2 - a - - - ' 1 s ' £
Always stop the engine and make sure that the cutting attachment is stopped before doing any » dalinurrasdamnmasirradulfnudeiu ariiszezinsenimaiinuadiisianaa
maintenance or repair work or cleaning the power tool. Do not attempt any maintenance or repair ‘mmwugwmmu’lu wazlitiaandi 15 wimT
work not described in your instruction manual. Have such work performed by your SUMO servicing * The machine is only designed for trimming grass.

dealer only. = The machine operator must ensure that no people or animals come closer than 15 meters while working.
= \When several operators are working in the same area the safety distance should be at least twice
the tree height and no less than 15 meters.



WM TRIMMER LINE
o#,_\ 100% NYLON PA6 GRADE

B Ny e - - ~
3815 : [3ruinSovdakn
USED WITH BRUSH CUTTER

lluunau
ROUND TYPE

danavkaji daldsaaiss
Size : @3mm x 30m
Weight : 228 ¢

95.-/Pc

10 Pcs/Box, 40 Pcs/Ctn

HIUUIKAgU
SQUARE TYPE

AU oK INGoNIAKUY

Size : @3mm x 30m
Weight: 251 ¢

115.-/Pc

10 Pcs/Box, 20 Pcs/Ctn

19U

Jolu:ln : QuiASeveudnnAsbipulaguIdu

UD112S: MOTOR AND ENGINE Categorie 14



el Aged o EiS e D SN
S W luidogovidoudanayps

S/l "R 1 BRUSH CUTTING BLADE

A F‘ 4 .
.nﬁ '

Ualinsay

5%

uidosmdlud

T € 1 e
GQKU]Uﬂ5:|GUE|aUﬂaU

daKey JuWy WK
+ GRASS + WEED + BUSH

AfUaUUQ / Feature

+ Wuluigasauyu TavnumsdaRulionns:Gugoundu
The saw blade’s teeth were removed angle. To prevent splattering from cutting the rock.
- UKUNIUY US:Kgauuu fiv 30%
Light weight and oil economy to 30%
- nUBNIASAVAaKEIRIBOWTGUUNINGUED 15%

sh cutter for time to 15% = — at : s i . iy
R o fuidosdaka SAuinsaveud 26 cc ulU

The saw blade is thick, strong and hard. 3 T 4T 3 0 T 40T

» JSS:U19AIWSOU UIKUNIL

‘Fnoling holes and light weight. , Gk
- [§dKsSuInSavdaKkn1a1ga:w1gnnsu M <l
Use for all of brush cutter models. mm( L

@ Diameter Specification

inch mm Arbor | Thickness TIP size Teeth | Packing Price

(mm) (mm) (mm)
o" 230 25.4 1.25 55x2.0x2.0mm| 36T |25Pcs/Ctn| 235.-
10" 255 25.4 1.25 55x2.0x2.0mm| 40T |25Pcs/Ctn| 245 .-

A ﬁ‘HﬁOU / WARNING A HihmnAuaaRa_

* posaoUISuCuEIia nolorwd soumiuwd nnASOATEL Wearing safety glass safety gloves and safety shoes every time use it w mio /N \_*\.\ ﬁgﬂ?’:ﬁ%sgg)%ﬁ
* fiauliniundsas)vaauAWELYSRivaLIuids dadvluidos  « Should be check the saw blade before use it , install the saw blade iz By
Tlfqr]ﬁa\}lla:u“uﬁa(ﬁﬁll Uu e S:ijTﬁmutTa\ﬂLjU unnaduaglu properly and tighten the nut. « During use must not other person in ' \_O Uaoniwu
fiufmshoiu « KanIdgonsivIuusS DR TuauIdorSauan  the work area. » Avoid working area on solid or sharp such as stone,
AU 15U KU 120 ns=U8V0 » KINWUADWAOUNTS:KIWIT0IU  bottle , can etc. » If there is an abnormality during use should be stop
AISKEAIEUAUR « Ha“'amnmsTSmumLsUmnéa\)auﬁ asyedau  working immediately. = Should be turn off the engine after use it.
amw?u|5aalla:dﬁs‘\)s“nmlﬁammufuHS“\)U'EJTLJ Check the saw blade and maintenance for use next time.

HuonUsng

IdDIRIUEND
MINRNEND




CIRCULAR

SAW

BLADE

FOR CUTTING GRASS

( luidosighrsucarnn )

. S =T b ¢
| | g TR -z.‘.‘-;g{ Tl !
w : / 2 [ ’r"f“'i ,,;5:’%;“'

'] A : |
i ‘ . .“1#/.-.‘}.._ 1;_44|‘ Js v f:] ]" {!Fi'ﬁf } % f\ \j/‘
J - I WS /. 8 \ 1 r.l- ¢




SO6},

BD><ING,

v o
|

ol uanuu:

Y dluidos waaonindn Dss:neAouSou
mMiKDuruNiuY BwadcdoinSoodanndn

Tuideadanan TsnunSevaud 26¢cc dulu

3T 4T 30T 40T

e R =

ienowUasnnslunasiiviu AOSURURRIUATIUELINaEDIASDASA |__sosawaunsnindonywuasar |

e AISAIUIBUMAUA:IAQ IDoIBWE SoafmIBwa nnﬂﬁJﬁTﬁnu

o fiouldnunlsasEoUANUELYSQvaIlUIAes Gadiluidesifgncios
nazgutaalfiniu )

o ssHFUIENUABILDYARABUDETUBURMSAIU

¢ HANIAYIMSMIUUSIDCURDYINIIHSDYRIDAL 13U AU ¥aa ns:UoJ

o HINWUAWTAUNAS:HIVTENU AISHEOTENURUR

o HAXINMsIENuAsUaIREaIsud nsadouamuiuidagia:iigIsnuy
Wwaldnuluasidold

Specification

. . ) Weight .
inch mm Arbor (mm) | Thickness(mm) | TIP size (mm) | Teeth (N.W.) UssA Price

10" 255 254 1.3 6.0x2.5x1.8 | 40T | 397g | 25 Pcs/Ctn |125.-/Pc




& |'\gy CRASSS
Nl Ve Walga%)
MAXICUT® IlUUUDOO

BLADE for CUTTING GRASS

14nx2T

BLADE for CUTTING GRASS Size : 355x90mm
b Thickn 2
1 2 X2T Hole : 29582611'6mm
Size : 305x90mm e

Thickness : 1.6mm
Hole : 25.4mm




&

- CLASS __
iy Fos

MAXICUT"®

a
“. CLASS i

o

>

MAXICUT’

BLADE for CUTTING GRASS

12" x2T

Size ; 305x90mm
Thickness : 1.6mm
Hole : 25.4mm

LADE for CUTTING GRASS

14"x2T
Size : 356x30,
Thit:l(nes;: 1::m

Hole : 254mm

C

GRASSEwDE
luDaciarna

IuuUdoo

TASADMsAaNNID daldlo

IKuUN:vaununkndY auauidoe

LARGE CUTTING RADIUS
WORK FAST AND WORK BEST FOR FIELD CUTTING
EASY TO SHARPEN

In:E1KSU (Suitable for)

TuDastalinuransudanndneou Ila:dswisnnista
TuIu:ansuwuIl rSeduld

This cutting blade is suitable for all kinds of soft green
plants and weeds. Not good for shrubs, wood based plant.

SPECIFICATION

Inch (?n?ne) Teeth (I;Inc;ﬁ Thz?n@n?ﬁs V(VNeI“%t)rt Packing Price

12 305x90 2T 25.4 1.6 400 g 50Pcs/ctn 100.-

14" 355x90 2T 25.4 1.6 450 g 50Pcs/ctn 135.-
A

A ANCioU / WARNING

e Wonowuaoarialumsroiu AssURUamUAIULhoeDIASDASO
e ADSASUISUMNAUAING NRUOmSWE SODIMIBWE nnAsbRlzoU
e HANIAEOMSMUUSIUNTYoLIToRSoUDLDAU 18U AU Yda NsUoD

e HINWUAWWOUNGSHOWIBOU AosHeElZounUn

e KA INMSIBMUASSTaNSELaUC asovaou amwludosliathsushymolou Tunsbciolu .
o WonoWUaoarie ADSasIDaoUMSaNntiso HsonmuIdameauabludanourhmsamsninSoveuc msisoiudonosos
lon GU AN Keodare pilusuoseciowiiou Ksawnogusbnulaasou MiKUNORUKSoIAEBIOIA

* For your safety. please consider the following suggestions.

= While operating always wear protective clothing and protective devices such goggles, gloves, face shield and ear mufis

« To avoid areas with solid or sharp weapon such as rock, bottle, can

* |i you notice any abnormal sound, smell, vibration, or cther unusual signs, stop the engine immediately.
= Ajter each use switch off engine and check cutting blade and maintenance for use in the next time.
= For safety, check the cutting blade for wear and damage and check the tightness of the cutting blade nut before starting the engine. Operating with a wom, cracked,

nicked or damaged cutting blade causing death or serious Injury.




